10

1071

o(1 jet)/a(inclusive)

1072

Ratio to ALEPH

0.5

206 GeV ee y*/Z (Hadronic)
_| T Tt | I I I TTT | T Tt |_ﬂ
_ — o
= =5 >
— 30
— 1=
- |
= =0
= el
= =]
- I
= S
— u 12
- S
— -1mM
= u -
— Ho
_ — O
L — ™M
g
= = ALEPH EE
= --3-- Herwig 7.2.0 defa 9%
__ —— Pythia 8,307 default s
= ¢ Sherpa 2/2.8 default 3 c
— - ¥ Vincia 11.00_8.176 default -8
—— b -
= ks
[ —
| )
e U U P S Y Y U S B - e
— —2
1
| —0.5
| " 1 1 1 1 " | " 1 1 1 " | " 1 " | " 1 1 " |
-0.5 -0.4 —0.3 —0.2 -0.1



	Contents
	Page 1


